

Proposition 8.26 (continued 3)

Proof (continued). (iii) We have

$$\begin{aligned} (fg)(T) &= \lim_{n \rightarrow \infty} (p_n q_n)(T) = \lim_{n \rightarrow \infty} (p_n(T) q_n(T)) \\ &= \lim_{n \rightarrow \infty} p_n(T) \lim_{n \rightarrow \infty} q_n(T) = f(T)g(T). \end{aligned}$$

(iv) Let $X \in \mathcal{B}(H)$ such that $ST = TS$. Notice that

$$S(a_i T^i + a_j T^j) = a_i S(T^i) + a_j S(T^j) = a_i T^i S + a_j T^j S = (a_i T^i + a_j T^j)S.$$

So for a polynomial p , $Sp(T) = p(T)S$. Hence

$$\begin{aligned} Sf(T) &= S \left(\lim_{n \rightarrow \infty} p_n(T) \right) \\ &= \lim_{n \rightarrow \infty} Sp_n(T) \text{ since } S \text{ is continuous} \\ &= \lim_{n \rightarrow \infty} (p_n(T)S) \text{ as argued above} \\ &= \left(\lim_{n \rightarrow \infty} p_n(T) \right) S \text{ since } S \text{ is continuous} \\ &= f(T)S. \quad \square \end{aligned}$$